1. & f(x)=5x-7°] ts
| oA £(f(3) o ak& Fstofzt

5]

b

1L



2
y==29]x9 gto] -2,

2.

X

@ 1 3 2 @ 3 ® 4

D o



3.

= 5 Al 3AREH 919 27

@ (3, 2) @ (-2,-3)
@ (4, 1) ® (1,-3)

® (-1, 0)



4. a<0,b>02 W A (a-b, ab)= A D AEH

lo

21712

=

@ A 1A2EHE @ A 2AHEH
® Al 3AMEH @ A 4 EH

® yZ= ©]o] Holoh,



5. W4 y=Lax o TATAH (-2, -3)& A W, e F o] Tem
94 914 ke Aol A4E ottt

@ (~4,-6) © (-1,-%) © (-8,-12)
@ (6,4) @ (12,18)

g ’



_ 10 —
By = 9 TAZI (-1, a), (b, 5) F AL W, a+b ol T2

@D -8 @ -6 B —4 @ 8 ® 12



1
®©y=-
X

@ y=5x+1

Exg9 55 v%

!

® &= 4g0] Hopl 4



a4 f(x) = _4%_1_1, g(x) = 2—;)—9 of tiste] f(10) = a,

12a

20 o) g Fatote

g(2)=b < 1,



_ 1 _ _
o -y = §x°ﬂ tiste] 21 ehsegtel -2,-1,0,1 & o, ©]
o e

1 1
@ _23 19091 @ _5505 §a @ _2’0’234
@ -4,-2,0,2 ® 0,1,2

Sh

i}

A
e

9

X



10. v 5> 4] A4elr, yi Adigke] 100]8ke] 2491 H4o]e,
Z

Aol
ool thste] xof F& xFHE, yo| YL yHER SHe LM A
Fol 4 2EB R A 4 AR 7ok o] A5 E Totolel,

YR 4l



11. T PB,a+1), Q3, 2a+5) 7t x Fofl tiste] AL o, ¢ 2] &
ool et

Q-



12, T1ge 27] §4E9) TAHEE 19 Aol
ool y = ax o AefEety = _xo] @

Jef =7t up2 A #F2)o)7 AL 9

yl

ORCEN® ® 7@
ORORIE @ O ®
ORI




13. o= o)A = H A, B yAEE

yl

sfol Fstelet,

2.
|




14.

ey = ax o DAV v OHR 2

o, (—4,b) & Gkl gtek oluf, ab G
T-stozt,

yl\

y=azr

2,3)

Ry



15.

x 9] grol 0olAF 10 Bt 22 #4=o]al, y o] FFo] 0 o]4F 10°]s}k
At A o, B A y 7F x O] &9l AL E E A1V
H7]

A y=(EH3UE & F)

© y= (xEoh &2 25)

© y=(x9 3ujHT} 322 %)

@ y= (xo] Adiglte] 1S gt )

@ y=(xo FHgtET 28] Z A 5)
@D 17 @ 270 ® 370 @ 470 ® 570




16. ZEFHH ol Al A A(-2,3),B(0,-3),C(4,0) = LeH 12, o] A] 4
A,B,CE EAH o7 5= 47ty ABC 9] Hol=?

D 12 @ 15 3 20 @ 25 ® 30



By = 20 22 F A (2,2), (k- 2,-4) B A T, k]

=t

?

=
rlo

@D 3 @ 2



w
me
R=)
g
1o
)
Flo

DO |

JUIN )




= (x—2a)(x+2) 2 Uebd o, £(2) =

@ 18 -



the T-elA F A A(-2.2),B(4,6) 1A xFol H4E e

=] TY= a7
W& C, Dt 5HAE AACP 2F ABDP 9] HolE 27 5= x& 99
A A peta gttt o] W, AACP 9] Ho]:?

yl\




